
Given that 234 ×56=13104,

find 1310.4÷2.34

Giv
en

tha
t 23

4 ×
56=

131
04,

find
13.

104
÷5.

6
Giventhat234×56=13104,

find13104÷5.6

G
iven

that234
×
56=

13104,

find
2.34×

5.6

Giventhat234×56=13104,

find23.4×5.6
G
iv
en

th
at

23
4
×
56
=
13

10
4,

fin
d
13

10
4÷

0.
56
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G
iv
en

th
at

23
4
×
56
=
13

10
4,

fin
d
0.
23

4×
0.
56

Giv
en

tha
t23

4×
56=

131
04,

find
131

04÷
234

Giv
en

tha
t 23

4 ×
56=

131
04,

find
131

04÷
56

Given that 234 ×56=13104,

find 234×560

Giv
en

tha
t23

4×
56=

131
04,

find
234

00×
560

Giv
en

tha
t 23

4 ×
56=

131
04,

find
2.3

4×0
.56

G
iven

that234
×
56=

13104,

find
23.4×

56

Given that 234 ×56=13104,

find 131.04÷5.6

Giv
en

tha
t 23

4 ×
56=

131
04,

find
0.0

234
×0.

56

G
iven

that
234

×
56=

13104,

find
13104÷

0.234

Given that 234 ×56=13104,

find 131.04÷23.4 G
iv
en

th
at

23
4
×
56
=
13

10
4,

fin
d
13

.1
04
÷
23

.4
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